s l l A QUALITY INSTRUMENT FOR
STERLING STJ )E R LE STUDENT OR PROFESSIONAL ,
PERATING INSTRUCTIONS

A complete course in use and operation of slide rule

The Stering Student Side Rule js an accurate and comvenient instrument for by actual mtipication on
i e apmetot g e T; D, and K scales. The A, D, an
& on the body, the B G, and C scales on the side. The cursor travels
The reading of any slide rule is accurate to the sspon. place i et - the U8 Tength of the body, and the hairine crosses these scals for direct com-
therefore, approximation of the third place number can ba done by mental caicu.  parison. O the reverse side of the slide, the S, L, and T scales appear. and the
laton, by mulipying the 46t o UMD fogethe and Usng the 1at igure a5 Sice may be rameved and reversed for sk in Calutaling thess ecios o g
rin these calculations. Accurate.figures beyond this must be done  nometry problems.
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For thiswark. we use only the G and D scales and i soms cases the © scale. The Indjvidualrumbers following 2 o 20, bu the markings between unit numbers are
€ and D scale are logarthmic, and start vih the unit 1°at the left, i the in ihs, or 2 m 4 o the right hand 1 or 10, each unit
unit 10 (or 1) at the right. The and 2 has ‘small numbers indi- in halves. ST R Yo enl O o, et s e
Cating the “teens” following the feft hand 1 or 10 The ines between the igures ures must be observed. The disgram below shows these as they appear
Givids each segment info 100hs. The markings beiween 2 and & agoin represent  on the rol. and Eves readinge a5 they apoen
10 lll LIA ll,S !iB 2.’1 24‘4 2.]8 3l2 3.'6 4.‘4 5‘5 ﬁ.l9
i
c o Bt ottt R g e i
1 | | ! | | | | | |
102 125 146 188 215 255 305 345 43 61
r s ogathmic scae, ihe progression of rumbers is constant, thesfoe. the  Similarly you wil note 3 x 2 = 6.4 x 2 = 8,5 x 2 = 1 or 10 a5 you read
multiple of any unit or number of units can be read only if we place the factor across thi
1 on the line of one of the factors in the problem. The problem of 2 x 2 is there- Eur in mlnd nm this 2 or the 2 on the C scale can represent, 2, 20 or 200. This.
fore solved as follows: ust be remembered in writing down answers. Also remember that the answer
1—move the slide until the figure 1 atthe let is over the 2 on the D scale. 10 the prablem always appers on the same scaie rem whieh you started, umuaiy
(Move the slide to the right,) the D scale.
2—move the cursor until the hairline is over the 2 on the C scale on the
slide.

3—the hair line will be over 4 on the D scale.
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since dision is the revarse of multplication, we reverse the procedure shown 7 x 4 (sight hand 1 on C over 7 on . Read 28 on D below the
in multiplication. as follows: Problem: divide 4 by 2. Start with 4 on the D scale. 40onC)
Move side o ight unil 215 ove the 4 Agaist 1 1o he tsresd 5. NOW 8 x 9 (right hand 1 on C over 9 on D. Read 72 on D below the
$ X 21 ofCover sof Dread L or 10 against 2 f ©) TRY gonC)
%3 (1 of C over 3 of D—read 9 against 3 of C) THESE 64 - 8 (over 64 on D, place 8 on C. Against right hand 1 on C,
THESE 8 - 2 (2 of C over 8 of D—read 4 against 1 of C) PROBLEMS read
PROBLEMS 5 - 4 (4 ulcunv 5 of D—read 1.25 against 1 of C) (SEE BELOW) = 9 (over 72 on D, place 9 on C. Against right hand 1 on C,
For nuimbers which when multplied are more than 10, i s necessary to achiev (5
the same effct by using the n.m hand 1 (or fen) a3 the facor. o S iert " une oy o oo bl o ot e i e this case,
™ 12. By placing ihe right n and reading against the 2 on {3 reverse the slide, using the right hand or left hand 1. and read the anewes 3¢
e .wale ihe cursar will ndicate the 12 on i he B scale (Lef fand 1 or 10 plus  Shown -
~—the smail 2 equals 12)- EXAMPLE: 4 #=put Tellhand 1"on Cagainst 4 on D. The 4 671 CTs
Similarly. for division, 12 on D divided by 2 on C will read 6 under the right hand “off the rule." Siide the slide to the left until the right hand
of the slide. 1is over 4 on D. Against 4 on C, read 16 on D.
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USING THE C, SCALE:

e C scale is the same as the C scale, except that it reads from right to left. By reading the C Scale sganst the  scale, you will note ha the toal of the
T Slels horaiore e RECIPROSAL o Warh et o gt foJf, By recing ¢ 215 1 0, 10 when ;‘um.ed together. Also. the C scale

the necessity of moving the side lef o right. Tepresonts the racion (Gecimayof he G sen
PLE: 4 x 4 Reading from the RIGHT on C. place th & sboe the EXAMPLE: 1/8 = -125—Against 8 on Gy read 125 on C. is€& mELOWs

on D—againsi hand 1 on 6 on D. You are

i i o mavpeea a7 FosoreLt] s i place of the
Cscal. 3 réa these o G and B ogainst euth bthor. k. BELOW)

24 A—phce left hand 1 on C, above 24 on D—Against 4 on
Ci read 6 or
R A o f ; Pasera e
i 6 Lyl \m!uw\m\w\‘m\\uu‘wvhuhmhM‘\mluu‘\mlMHH‘“H!uuhm[\mh\ulml ottt L D
o g R
P 32,8 e re e of 2l e ot ength gt st Tn 1126 is 676 on th
therefore they are the SQUARE of the C 4 Ayt A The square f 15 s 361 on ek scae A~
numbers shown an the € o gﬁmu‘:y eag mg(lha numb" Ivmes! uuz’m;' m; The Square of 55 is 3025 on the right scae of A
scale. For practice, remove the siide. You now can clearly read the Hoe ha th produts. have aven 31 dd numbers of igts. Exampl 1 and 4
ainst the D scale. Slide the cursor along, until the hairiine is over 3 an Doryou iy o W
on the left half of the scale Slide it further along to 4 on D—you {:II have even (UITESL R gl -Exmmplex:2 o tailes St pes. Wken

igi
il ead  onthe It halt o e a8 e o dighs, When

The square of 5 on D is 25 on me right scale of A. (SEE BELOW)
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" SQUARE ROOT:

Sinca the A scal i the square of the numbars on D, in tun,the numbers on O The square root of 25 (even number of digits—right scale) is § on D
uare roots of imbers on scale A. Of pri here is The square oot of 250 (odd number of digits—left scale) is 1581+
wmch falf of the A scale ] uu wheh, putling the e o be couged o ite on D scale.
squa Tl for this i smple. If 00D number o digits, The square root of 2500 (even number of digits—right scale) is 50.
e the left scale, I EVEN number of igits. use the right sca .
250 - 12; or 2500 -
A b 2 3, % [ | 3 Stk
|
R L R A P e ) | ‘) | - e iy ¥ Tyt
15.81+ 50r50
il note, conssts of 3 log scals nstea of 2 a8 in A The resut 1125, has three digits lmofd.ciml—«un(MK— 5 = CUBE ROOT
the CUBE of the D scale figures. 3 x 3 '3 % 27 ortne —1.25 hns 1 d-ln m—z vI‘M of decimal. Since the number is
on K by pla more thar e snover 1o found in conjunction with the left
Soat (i v T ‘would be read in the middle scale,
$ce L has 2 Grghs inth whels umaer 1550 has 1 digit ight of the first st
of 3 numbers, 5o answer would be found in left scal
312,516 would b found in the center scale, b-c-uu of 2 digits in second
oup )
lows: re 2 digits in the
nnmwlmcmm ovsu-gns NW. e wm o n'J ext to the decimal navm( leas than amlm (nmounmnm If the
S T TR is the aiswer would be found in the ight hand scale (3 digis in “outside
ot the K scalein your comp ampotaton. 12 i, the cantr ooA number).
S e e i s o
|1.076 12.32 3 50.
0 L L e i v | | I |
A DR N e B [ et RO Do
l12s l12s l22 1250
This scae s actually  gradusted scale sractly 250 millmeters ong s gradusted -~ answer The fogarithm is read directly on the D scale. -
into thousandths of this length since this length is the same as the log. scale. 3
fore, by reading a number on his Scale. we can find the logarith of any FRANRLE L R A0 sl
number on the D scale. Note that the numbers on the scale are preceded by a |
Jocimal point, reading therefors from O 10 1.0. This i cafted base 10, The D and inversely, set the hairline over the number on the L scale, and you will read the
L'cale should be matched for direct reading. N e e st
Be sure to include all decimal points. including the one on the scale in your ol
% ; H b LF \ a A 3 & 3 i b i A . o > b -t
LI e e e ] I Y " | Ly O
THE S SCALE: «
This scale is for direct reaing of the sines of angles. The scale s divided in §in 15°48—Set hairine over 15°48 on S scale—read 272 on A.SEE BELOWS
3, minites and seconds. The in conjunction with the A scale §in 89'—Sat hairlne over 59 on § scale—read 858
v answer Girecty. s be netsd et snes Seve 60- musk b care e over 1°20"on S saleread

235 on
ST scale her-Torsan adcltonal

to

Tl B, sinc v scata Gacemmbon rephiy. The sesk
(60" EQUAL 1°) with degree numbers in 10s.
To determine the Sine of an angle, follow this

0232 2712

ns are in minutes (Nem-mbﬂ that the left scale on
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THE T SCALE'

tangent scal at 5.7° and increases up to 45° on the right. To find the multiply as required, reading your answer on D.
umm 645" or 6,75 place the haiine over 6.45-on T an fesd 1185 on the EXAMPLE: - With side oven with scale A, S 132 ¢ 131 reads 228
Dscale. (SEE BELOW) on A.(SEE ABOVE) Remove slide ar . turn
It can be seen here also that multiplication of the sine or tangent is only a matter .228 to D and place left 1 of C on .. ‘2!. Tn mlllply lhll b’
of finding the sine or tangent of the required angle, then transferring this to the D S8y 14.6, place cursor over 14.6 on C
scale, by reversing the siide, and. putting the 1 of the C scale against the hair line; hair line.
6745
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In quick review, here is o problem in each of the scales: check your answers with these, Log 6—(REVERSE SLIDE—Use L and D scale)—.778
‘and i any auestion. refer 13'the proper inirucrion Sin 13.4° or 13°24'—S and A scale Answer: .23
24.5 x 13.7 (C & D scales) Aﬂ"r 335.65 (last 2 numbers approximated) Tangent 6.75° or 6°45'—T and D scale—.1185
924 + 16 (C & D scales) Ans Each of th okhac otk tions:
42 x 42,62 © & Ascle) N 1764 (a0 2 of sch Tumber muttphod s 710 e fnctions may 'ﬁx o vacn Companent s Colouited I obcordames

gt % Pt e with kh. functions of the rul
:“:‘;'x'(g,”nif“;':;‘;_ e D) ;gx FoRIAND USE STERL RN ARGHTECT AND ENNEERS ScalE Rulzs

oA 18 (08 b At s o o s ¢ 3 s OTRACTORS AND TRIANGLES, Accurats and clearly marked for al oroblems
Answer is 5 on D scale.

v measurement, angle and radial computation. STERLING on th product
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